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PART - A
Synonyms

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is nearest in meaning to the underlined word and mark your response in

your Answer Sheet accordingly.
1.  Her smile was contagious. 6. Sheis a patron of art and culture.

(a) arrogant

(b) disrespectful
(c)
(d)

(a) entrepreneur

()

(b)

ssance of the entire

Under his leadership the company grew in & 4 / “ ez fopiica.

(¢) unusual " (d) original

(d) disciplined 10. The sardonic nature of her stories made her

stand out among the contemporary writers.
His charm lies in his oratory. :

(a) compassionate
(a) deceit

(b) insightful
(¢) mocking

(d) comic

(b) eloquence
(¢) looks
(d) nobility

FJY-U-GTA (2-A)
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Antonyms
Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is opposite in meaning to the underlined word and mark your response in
your Answer Sheet accordingly.

11. He found her extremely attractive and | 16. Spring is a time of plenty.

charming. (a) ugliness
(a) unnatural (b)  scarcity
(b) modern

(c)
(d

repulsive

12. The sky is bo
(a)
(b)
()
(d)

13. The sky is clear tod:

(a) bright
(b) opaque
(c) cloudles
(d) blue

14. Thave a fascination for deep waters 4
(a) dark
() Tight

(C) dﬂngemus ( d) &equ Bntly
(d) shallow

20. She is a rather crooked woman.
15. My boss has been too generous.

@ stihgy (a) polite
(b) rough (b)  generous
(¢) evil (¢) straightforward
(d) hostile (@  happy
FJY-U-GTA (3_A) .
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Idioms and Phrases

Directions : Given below are some idioms/phrases followed by four alternative meanings to each. Choose
the response (a), (b), (c) or (d), whichever is the most appropriate expression and mark your response in your

Answer Sheet accordingly.
21. Overstep the mark
(a) To tell people how successful you are 26.. Turn topsy-turvy
(b) To step into someone else’s areas of (a)  To completely change something
expertise (b) To completely evaluate something
(¢) To upset someone by doing/saying (¢) To enjoy yourself greatly
than you should (d) Toexhausty completely
To do something i

23.

(a)

(b)
(©) y
@ ifference
24. Pull your socks up
(a) To get well-dressed for serious issues among people
(b) Improve your work or behay e are no problems and people are
(¢) To speak in an honest"w
hesitation (¢) There is war and bloodshed all over
(d) To be in control of an organization, often (d) There is no work, only enjoyment
secretly ;
25. To get under somebody’s skin 30. Give somebody a leg up
(a) To deceive someone (a) To pull someone down
(b) To admire someone (b) To deceive and betray someone
(¢c) To annoy someone (¢) To help someone for their livelihood
(d) To support someone (d) To help someone to be successful
FJY-U-GTA ' (4-A)
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Spotting Errors

Directions : Each item in this section has a sentence with three underlined parts labelled ?a), (6) and (c).
Read each sentence to find out whether there is any error in any underlined part and indicate your response
in the Answer Sheet against the corresponding letter i.e., (a) or (b) or (c). If you find no error, your response
should be indicated as (d). ’

31. Youdon’t have

32. Ifyou say that sc

(a)

No error

(d)

(a)

34. The importance of trade in Mughal times reinforced

(a)

the cultural definition of wealth as something comprising of movable property. No error

(b) (c) : (d)
FJY-U-GTA (5-A)
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35. In the nineteenth century, most traditional scholars

(a) (b)

tried to stay clear from the.imperial Government. No error

(c) (d)

36.

37.

89. When learning to dive it is important to relax in between and take breaks. No error

(a) (b) (0 (d)

40. Ihave the op'portunitjr to study in America next year. No error
(a) (b) (c) (d)

FJY-U-GTA (6-A)
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Fill in the blanks

Directions : Each of the following sentences in this section has a blank space and four words or group of
words given after the sentence. Select the word or group of words you consider most appropriate for the
blank space and indicate your response on the Answer Sheet accordingly.

41. There was a time when West Germany was a | 46. The United Nations had 2020 as
distinct ‘the International Year of Plant Health.
(a)  policy (a) ruled
(b)  polity (b)  ordered
(c)
(d) \
42. 1 was punctual, but he is
expected it to
(a) di
(b)
(0
(d)
43. It was a ___ _ 4 i trusts everyone.
was shocked. ' '
(a) terrified
(b)  horrifi
(¢) terrifyi
(d) den
na\Gandhi was a lover of humanity
44. Elephants believer in the goodness of
danger.
(a) trumpet
(b)  frolic (b) powerful
(¢) whine () i cheerful
W) e (@ hopeful
45. The first film on Tagore was such a success 50. Tonshi bt Ballie e k.
that now they are going to make a
)  sedal (a) know
(i s (b) have known
(¢) sequel (¢)  knew
(d) sequential (d) known
FJY-U-GTA (7-A)
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PART - B

51. Consider the following statements about Light |54. LED (a semi-conductor device) is an

year : abbreviation that stands for
1.  Light year is a unit for measurement of (a) Licence for Energy Detector.
very large distances.
‘ A ! (b)  Light Energy Device.
2.  Light year is a unit for measurement of

very large time intervals. (¢) Light Emitting Diode.
(d) Lost Energy Detector.

3.  Light year is a unit for measurement of
intensity of light.

Which of the statements given above

correct ?

(@ 1,2and3
(b) 2and3
(¢) land2
(d 1lonly

is a contact force
ntact force” is

52. Which one of

of water at atm
(@) e
(b)

(e) i rater | ol g is the chemical

correctly matched ?

1

2. Albert Einstein . Neutron

3.  Marie Curie '+ Radium .

Select the correct answer using the code given 57. The composition of gases in exosphere is

e id (a) Helium and Hydrogen.

1,2 and 3

¥ i (b) Neon and Oxygen.

(b) 1and2only

(¢) 2and3only (¢) Neon and Hydrogen.

(d 3only (d) Helium and Neon.
FJY-U-GTA (9-A)
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(a) ®rel ' (a) Na, Mg, Ca
(b) UG (b) Na, Mg, Al
(c) @R (garm) (@ Mg, CaK
@ foom (d) Mg, Ca,Ba

59.

(o)

aw & foga-smuedt uftshor #, faega- g
Freiferfiaa # & FrashL fomm, Ry

(a)
(b)

(d)

(a) Cu 3 S ' ‘ 8 dIEH W CHEHH
(b) Fe
() _
d) Ag3iR
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58. Which one of the following is not used as a

raw material in the manufacture of glass ?

(a)
(b)
(e)
(d)

59. In electrolytic refining of copper,
electrolyte is a solution

(a)
(b)
(c)
(d)

(a)
(b)
(c)
(d)

Soda
Alumina
Borax

Gypsum

61. Which one of the following statemen

dihydrogen (H,) is not correct

(a)

(b)

()

(d)

FJY-U-GTA

H, is lighter than air a
water.

H, is inert at room temperature due to
high H — H bond dissociation enthalpy.

H, reacts with alkali metals at high
temperature to yield metal hydrides.

A mixture of NO:a and H, is known as
Syngas.

(11-A)

62.

Which of the following sets of elements has the

same valency ?
(a) Na, Mg, Ca
(b) Na, Mg, Al
(0 Mg, Ca, K
(d Mg, Ca,Ba

is the lowest

The image we see in plane mirror is

(a)
(b)
(c)
(d)

real and thus can be photographed.
virtual and nearer than the object.
virtual and is laterally inverted.

real but cannot be photographed.
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66.

67.

Which one of the following colours may be|70. In mitochondria, ATP synthesizing chemical
obtained by combining green and red colours ? reactions take place in the

(a) Blue (a) Outer membrane.

(b) Magenta (b) Matrix.

(¢) Pink (¢) Inner membrane.

(d) Yellow (d) DNA of mitochondria.

ells are found in the
of light ? \
(a)
(b)
(e)
(d)

Which of the following are the primary coloir§ij71. Squamous epithelial
ﬁ inner lining

According

ematic cells into
occurs by the

(c) It applies to.gphe
spherical lenses.

(d) Itisan invalid formula.
The gaseous product of a process in plants is a

requirement for another vital process that
69. Movement of materials to different parts of releases energy. Given below are four
cytoplasm and nucleus is generally carried out combinations of the process and product.
by Identify the correct answer.
(a) Ribosomes. (a) Respiration and Nitric oxide
(b)  Mitochondria. (b)  Transpiration and Water vapour
(¢) Lysosomes. (¢) Photosynthesis and Oxygen
d) Germinati d Carbon dioxid
(d Endoplasmic reticulum. ()., Cemauarae Senn e
FJY-U-GTA (13-A)
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(d)
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(a) T % YUEdd & HRU T THET 5| 80.
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(14-A)
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(a)
(b)

01C
10C

() 600C
(d)

800 C
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74,

75.

76.

FJY-U-GTA

In a dicot pot herb, vaseline/vegetable oil was
applied on the upper surface of one leaf
(Experimental leaf 1) and on the lower surface
of another leaf (Experimental leaf 2).
Vaseline/Vegetable oil was not applied on the
control leaf. The plant was deliberately not
watered for several days. Which leaf will dry
up last ?

(a) Experimental leaf 1
(b) Experimental leaf 2
(¢)  Control leaf

(d)

colours. This phenomenon is ca

statements is correct ?

(a) Red light will deviate the most and it is
because of the reflection of light.

Violet light will deviate the most and it
is because of the refraction of light.

Red light will deviate the most and it is
because of the refraction of light.

Violet light will deviate the most and it

(b)
(c)

(d)

is because of the reflection of light.

7.

(15-A)

A current of 1-0 A is drawn by a filament of an
electric bulb for 10 minutes. The amount of
electric charge that flows through the circuit is

(a) 01C
(b) 10C

(c) 600C
(d 800C

rmulas does not

a big hall persists
reflections. The

When light is scattered by a molecule and the
frequency of the scattered light is changed,
this phenomenon is called

(a) Rayleigh scattering.

(b) Raman effect.

(¢)  Photoelectric effect.

(d) Rutherford scattering.
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81. Which one of the following statements about |85. Which one _of the following acids is
the cleansing action of soap is not true ? predominantly found in tomatoes ?
(a) The oil and dirt gets collected in the (a) Acetic acid
centre of the micelle. (b) Tartaric acid
(b) Soap micelles scatter light. -~ (e) Oxalic acid
(¢c) Soaps are ammonium salts of long chain (d) Lactic acid
carboxylic acids.
(d) Soap forms insoluble precipitates with

the calcium and magnesium ions in harg

Which one of the following

FLOL DE Aer] (] L1 LULD

conclusions could

82.
atom is about

fthe nucleus.

circular path of
ts.

the atom resides

83. Which one of the

allotrope of carh me (CaO) with water to

(a) Diamon

(b) Graphene
(¢) Flyash
(d) Fullerene

84. Which one of the following reactions does not
* result in the evolution of hydrogen gas ?

(a) Reaction of zinc metal with dilute [88. Which one of the following is not a bio-mass

sulphuric acid solution energy source ?
(b) Mixing water to Plaster of Paris (a) Wood
(¢) Heating =zinc metal with sodium (b)  Nuclear reactor
hydroxide solution (¢) Gobar gas
(d) Reaction of potassium metal with water (d) Coal
FJY-U-GTA (17-A)
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(b)
(c)
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(a) afdenr, afdem, ™
(b) afdem, afder, g
(c) Eﬁaﬂﬂ, gfdem, e
@ oienmE, Siwa, afdw

(18-A)
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89. Twinkling of stars is due to 93. Which one of the following statements is true
" @ particular frequencies of the starlight. for a simple harmonic oscillator ?

(b) reflection of starlight from the oceanic (a) Force acting is directly proportional to

surface. the displacement from the mean position

(¢) atmospheric refraction of starlight. and is in same direction.

(d) magnetic field of Earth. (b) Force acting is directly proportional to
the displacement from the mean position
and is in opposite direction.

90. Which one of the following cannot be the ﬂl T O
of frequency of a sound.-w

) @B ne \oscillator is not

(b) st

() Hz

(d min™ the part of the

ot is
91. ‘Beats’ is a phe

frequencies of

(a)

(b)

(c)

(d)

h\‘l"‘ flower, germinating pollen grains

several parts of the gynoecium

92. Light waves are incident o h the ovule. A list of the parts
boundary. Some of the ligh is given below in different
reflected and some are refracted in the glass. combinations. Choose the combination that

Which one of the following properties is the represents the correct sequence of pollen tube

same for the incident wave and the refracted pathway/journey : :

"
4 (a) Style, Stigma, Ovary
(a) Speed
i Styl

(b) Direction &) Stigma, Bkyie, Ovary

(c) Brightness (c) Pistil, Stigma, Ovary

(d) Frequency (d Ovary, Pistil, Style

FJY-U-GTA (19-A)
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FJY-U-GTA
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(20-A)
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lm.

If human blood is placed in a 2% detergent [101. Which one of the following Harappan sites
solution, what will happen to the RBC ? was a specialised centre for making shell

(a) The RBC will shrink. objects ?
(b) The RBC will swell and become turgid. (a) Lothal

" (¢) The RBC will swell and burst. (b) Balakot

(d) The RBC will lyse.
() Amri

The major source of vitamins and minerals for @
vegetarians is

(a) black gram and wheat.
(b) mn g ing \was not a part of

If a ray of lig ’ : -_ g : s other than one’s

e of his subjects

(c)
(d) = owing statements about

(b) only reflection of Tight. hip of specific deities such as
(¢)  only total internal reflectig

(d) both refraction and

reflection of light. are conceptualised in

anthropomorphic forms.

Common salt (NaCl) is not used as a raw Select the correct answer using the code given
material for preparation of which one of the below :

following compounds ?
(a) Bleaching powder
(b) Baking soda

(¢) Plaster of Paris (¢) Both1land2
(@) Washing soda (d) Neither 1 nor 2

(a) 1lonly

(b) 2only

FJY-U-GTA (21-A)

Join Telegram : https://t.me/defenceekaksha



104, frfafiea & & ffm wm w A9 wES %107 mﬁﬁg@mﬁmﬂsm#mqﬁ%ﬁ

105.

lw.

e # forg wfer &1 Fmior 727 o man on 2 A i g m d 2
(a) Fordam (a) TeRH

(b) Hieft sB=

(b) TSR
. (c) ATFIE
(¢) RIS %ilalgtn @ = e

(d) HOER

8. Ffaflga 4 &

ﬂﬂwvﬂﬁm
\

@ THNLIN2™ -

' . YThideh Y-ardig S & 8
?mammﬁw%rﬁaaﬁ 2. At w g

i 3. wes ¥ R s
(a) FF Fal h GART hl AT : = feu e e F1 W wd W g
(b) TSE HfY (W&=g HIfdm) g (a) Fad 1
(© forlt h v wE (b) F 2.3 3
(d) TH YR HI FEAH! qTH o

@ 1,233
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104. At which one of the following places was a|107. Keppel Island is completely bleached mainly
Shiva temple not constructed under the due to the expansion of
patronage of the Chola rulers ? (a) Starfish..
(a) Chidambaram : (b)  Blue whale.
(b) Thanjavur (¢)  Octopus.
(d) Sea horse.

(¢) Gangaikonda Cholapuram

(d) Naneghat
08. Which one of the following rivers is not a

tributary of river Br utra ?

105. Which of the

Deccan Rio
1.
2
g is mot a minor
Select the co
below :
(a) 1lonly
(b) 2only

(¢) Both1and
a(s) of tectonic activity in Iceland
(d) Neither 1 nor 2

yof natural geothermal energy

2.  Creation of new land
106. Which one of the following is the correct 3. Attraction of tourists

meaning of ziyarat ? Select the correct answer using the code given
below :

(a) Pilgrimage to the tombs of sufi saints @ 1only

(b)  The practice of revenue farming (b) 2and3only

(¢) The death anniversary of a sufi shaikh (¢) 1and3only

(d) A form of Islamic divorce @ 1,2and3

FJY-U-GTA (23-A)
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111. 39 SiRN * 1 FaEd € el g9 wfe s
W1 NG W &, Jaia 8 § i whafiq
& S 8 ?

(a) ERDISC]
(b)  SATerteRuT

(e) STA-ATEEA
) FEREE

112,

114. F=fafen & & 68 e & a0 s
a1 2

(a) g
(b) TEm

() THHE=
d TEm

FJY-U-GTA

115. W@W%ﬁa‘wﬁﬁnﬁiﬂamﬁﬁ
forem fifSre Tt

1. 9% HEMaH! BN & e 9 faafa 6
W areht fiersat % w9gd o fEsy &1 am
o7 |

2. I8 U% §8d H9 & AW o1 formenr meum
3Ilt TRt | ITesTed o |

(0 3ad 3g@ fear w0 ¢ 6 g wwy d
fafay SemeE 9 ot amifes depfa
oft |

(d) =G #H, AMEE & AW W HGGE @H gRI
3 weeA R o |

(24-A)
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111. The process whereby certain minerals absorb

112,

113,

114.

FJY-U-GTA

water, expand and change is called as
(a) Hydration.

(b)  Oxidation.

(c) Hydrolysis.

(d) Carbonation.

(a) 90 deg

(b) 235 degree L
() 00 deg:

(d) 665 degree La

(¢) 75 degree E. Longitude
(d) 75 degree W. Longitude

Who among the following was considered to be
the preceptor of Mirabai ?

(a) Dadu

(b) Raidas

(c) Ramanand

(d) Surdas

(25-A)

115. Consider the following statements about the

Mahanavami Dibba :

1. It was the name of a giant box of sweets
distributed at the Mahanavami festival,

2. It was the name of a massive platform

with a base covered with relief carvings.

Which of

\ given above is/are
\

ollowing statements about
<Akbari is not correct ?

s written by Abu’l Fazl.

It is a part of a larger work called
Akbar Nama.

(¢) It describes the Mughal Empire as
having a diverse population and a
composite culture,

(d) It was later revised by Sadullah Khan
on the orders of Shah Jahan.
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117. S gaHe g 119. FSHE TAAHA (TRehe-AT6-TH ST
‘ Frafafaa & & forad gafta 2 2

1. gt ug gaanett i gid-gen & faeg &

2. I F oy T & | i

3. 3y =g fqummr @ i@ 9 3k @ (b) TER

foram-fomst fomam o |

(c) g

IR feu mu weHl # ¥ FHE T B 2

(a) 1,233

118. F=fafaa wuai

favama on -
g, Rl s St 3 g

a7 |
IR fu M wE ¥ PHREH forg =t 7 =gd & 2
L4 (a) 3iferehg
(a) ad 1
) (b) BIHH
(b) HaA 2
(¢) ThII-HSH
(¢) 13K 22M
@ 1,782 (d) et =
FJY-U-GTA (26-A)
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117. Swami Dayanand Saraswati

1.  was opposed to the worship of idols of
Gods and Goddesses. |

2.  regarded the Vedas as infallible.

3. had met and had discussions with
Ishwar Chandra Vidyasagar.

Which of the statements given above
correct ?
(a)
(b)
()

118. Consider the following

Which of the statements given above is/are
correct ?

(a) 1only
(b) 2only

(¢) Both1land2

(d) Neither 1 nor 2

FJY-U-GTA (27 -

119. Basket-of-eggs topography is related to

(a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)

A)

Eskers.

Cirques.

Moraines.

owing planets has the

Epicentre.
Focus.
Photosphere.

Seismic Zone.
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122, TAEHSH Hi AU TeUS Fel IS JMd B ? | 125, 31 G * UYA TR0 LT ¥ AUH I W

! ETeT e A § e e 9 & e
(a) TNId HEENR ﬁtmm@agqﬁ?
5y i (a) a9 1917 ¥ =URwr
(c) Uermiam needs
(b) a¥ 1916 H TGS
@ fewe wda

© a¥ 1916 % T fég fwafemea

123, -l e 1w AEd ]

@m %, 3'& o ,:1 v :,‘ . EUG‘

(a) wErY (@9lfe
(b) RIfer
(¢) <Ay

() m@\

124, Frfefan # & e oo s | ferli & sl wwen 1 Iway
(Fepreett) arem 7 for 787 2 7 fonaferfian & & forer foar n 2 2
(a) dTdTEHT (a) WG % Gfgu™ & 3g=8e 14 3K 15
(b)  FAEATE (b) WRA % wfaE b g s
() St (c) T TerEa St
e (d) T ¥ RAEE F ITDE 20
FJY-U-GTA (28-A)
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122,

123.

The maximum depth of Lithosphere is found [125. Where and when did Mahatma Gandhi make
in the his first public appearance in India on coming

South Afri two di ?
(a) Pacific Ocean. back from South Africa after two decades

(a) Champesania 1917
@) Siberian Plain. . PR

(b) Lucknow in 1916
(¢) Patagonian Desert.

(¢) Banaras Hindu University in 1916

(d) Himalayan Mountains.

as
(a)
()
(c)

(d)

the following provides for the

equality of men and women in
0”7

India ?
124. Which one of the following Oil Refineries is
it Tocatetl o Anmnii ¥ (a) Articles 14 and 15 of the Constitution of
India
(a) Tatipaka
- (b) Fifth Schedule of the Constitution of
(b) Numaligarh India
(¢) Bongaigaon (¢)  The Indian Independence Act
(d) Digboi (d) Article 20 of the Constitution of India
FJY-U-GTA (29-A)
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128. G TP G ARG % AR el & ey § 131. f=fafigs & @ $F-a1 gau (HSaE) 1 &9
feafafea & @ FFT/aERE FH @ :’af::“
- a
RA : (b) &
1. 3@ Fh P g 10 2, fhg qoa: =@ © W
de 6 ot | @ afew gfe
2. had o 9 #I @ty & forw 3 faifaa
BAE | 132. Fr=ferfiga oel & @ w9 auiad 399 2 2
= feu e e F1 T W T W 3 (@) FE AT
(a) a4 1
(b) a2
() 132 o
@ A9 1LAR2 - Ya-Val : 5"-}., % e frafe B

129. Frafifiea & & fees

(¢) Tt wifed-oa i
@ T A S

130. 1917 I swifa # eHfaen : "
o (a) I AR efqor wid afedt o o &
AR | qER ST
(a) ITAFAS PLeh! (b) WG ® TP TIWI % Jeah
® e (¢ Wrd % @ft wEd I Wa & "o |
O ST
0 (@) 9Ra % gft el & wi qggeTEl &
@ R Feem g ER I ST :
FJY-U-GTA (30-A)
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128. Which of the following statements about the |131. Which one of the following is not a form of
non-permanent members of the Security condensation ?
Council of the United Nations is/are correct ? (@) Dew
1.  Their total number is now 10, but was (b)  Fog
originally only 6. (c) Fxust
2.  They are elected for a term of two years d)  Sleet
only. 182. Which one of the following clouds is a
Select the correct answer using the code gigel rain-bearing cloud ?
below :
(a) 1only
(b) 2only
(¢) Both1and2
) . ? i g countries is
(d) Neither Lnor: = [ BB - ntoflgive 1 agriculture  not
129. At which of the follo
Declaration of
4 July, 1776 ?
(a)
£ suth-Eastern Railway
(e
(d) First Continental Congress
130. Who among the following was the head of the
Government that was overthrown by the 135. Bharatmala Pariyojana is related to
Bolsheviks in the 1917 Revolution ? (a) interlinking of Northern and Southern
Indian rivers in a garland shape.
(a)  Alexander Kerensky (b)  networks of National Highways in India.
(b) Prince Lvov (¢) interlinking of all cities of India through
(¢)  Grand Duke Sergei Ny
(d) interlinking of all industrial regions of
(d) Tsar Nicholas II India through pipelines.
FJY-U-GTA (31-A)
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136.

137.

138.

Wil Eafd, St WA & siferehan Wiiifers | 140, Wia % WfeuE % ESE 51A (WM IVA) #
&5l W 3rr=sied §, 98 ? Freaferfiga # @ w1 wfe 8 2

(a) IoTRfeaHfia ot 39 | (a) A Haed

) v A | © T ) Ry wRet
(@) Iwrsfeata geefi a9 | . e

=g 781, A a3k 99" @ g aEd §
form 7t @ fyerft 2 2

(a) f&yg
(b) Tae
(¢ @
d TR

. Fer fam daem JaE, 2020 TH H
Tihel . SR a8 2020 — 21 % f&w ODI

YRd & dfs
ST FYT T8 77

(a) TWETE SR 99

q | TE , AT EIR
(b) SR F W SRR T &

(a) @,maﬁmm| 143. s feew W, 2021 A, Fr=fafes & @ fFa
TS /69 TI-87 6l ih & TaG48 sAih &

(c) TEAY I ATHENT § HFEAT §C @A HI w9 3 = o 2
wifes &t | (a) wE/@

(d) 1ET q9 Ih Ged B! Afd T THaT B (b) ST TN
1 afEvm & fefed & @ 2, 5@ © B
% T T A T R | i ;
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The natural vegetation which covers the

136.

maximum geographical areas of India is

(a) Tropical deciduous forests.

(b) Tropical thorn forests.

(c) Montane forests.

(d) Tropical evergreen forests.

137. River Beas, flowing from Himachal and

Punjab, joins the river

(a) Indus.

(b)  Satluj.

(¢) .Chenab.

(d Ravi.

138. With regard ._

which one of the fol

correct ?

(a)

(b)

(c)

(d) ,
source of all Eﬁthority
Constitution.

139. Which one of the following is

the Speaker of the Lok Sabha ?

(a) Speaker shall preside over the House of
the People.

(b) Speaker will cast vote in the first
instance in the House.

(¢c) Speaker will have power to maintain
order within the House of the People.

(d) Speaker can adjourn the House or
suspend the meeting till there is a
quorum.

FJY-U-GTA

140.

143.

(33-A)

Which one of the following is included in
Article 51A (Part IV A) of the Constitution of
India ?

(a) Fundamental Duties

(b)  Suspension of Fundamental Rights
(¢c) Special Powers of Governors

(d) Writs

As per the data November, 2020,
inance Ministry,
tries ranks 1 in

ect Investment) for

is a bilateral air
Air Force and the
of the following

d)

Tableau of which one of the following
States/Union Territory was adjudged best in
the Republic Day Parade, 2021 ?

(a) Ladakh

(b)  Uttar Pradesh
(¢) Tripura

(d) Uttarakhand
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144,

g & #, femew, 2020 # gu fafew #A
ifeed-aTha geu 4 fFrfefad # & v 3w %
Tyafd % 9g 3g g FEEHE & o Sfa wra
&I 2 | 39 T T TEEAT |

(a) mea  3IbEh TS
frafser)

(b) aferor b sy (Ruferes 31fe aey

147.

(Fea  uffeh

145. s 36
EXCIR ]
(a) I8 9
m
(b) & T
Tt i
(© I8 JEHR
AT 1 ¢
(d) ¥® I
TR
146. ‘F2E Fa= F a1 7, f
HYA Talfireh 39 & ?
(a) T8 had HRAHE
71 -
(b) FE haol WA IAeTOT 3 W A8
T HIH G I @ |
(c) ¥ Hae WA AT, AR Fem1 3
L, T ST HI A S R
(d) I8 URAE gEAn, W 8, WA
FE R | )
FJY-U-GTA (34-A)

frafefaa 3 & form 3o &, 708 & # s
1 syon i T R 2

(a) WIS

(b) Y™
(¢) Ut

(d) TMR

JidiEr® F1 quER § w1 w1 e

T § G& R IgEIT

(a) ?Wwﬁwﬁaﬁmw
|

b) T & #, @R it wm IfEEin
Eicill

(© 9 gau % fphe 2w A9 IRt w@
arelt wom wfgen f= sl = |

(d) I8 Tieh wifd gEHR & gentia R
4
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144. In the recently concluded elections. in|147. Recently a state of emergency has been
December 2020, Faustin-Archange Touadéra declared in which one of the following
has won a second term in office as President of countries ?
one of the following countries. Identify the (a) Maldives
i (b) Bhutan
(a) Central African Republic @ Nea)

(b) Republic of South Africa @ Myanmar
(¢)  Republic of Ghana
(d) Republic of Mozambique
8. Which one of the teams is the winner
phy, 2021 ?

145. Which one o
correct in
award ?

(a)
(b)
d Maldives to host
(c) land Games ?
(d)

146. Which one of the
appropriate about ‘Exercise Kavag - A _ correct reason, out of ‘the
(a) It is a military exercise/of the : wing: about Claire Polosak for being in

Army only. th ,
e news :
(b) It is a joint military ex R z
She has h d with th:
therindiah Arin:ahel the tndiah Navy o i ST rea vt tas Dolsber
only. v
b) Sh tl G Sl
(¢) It is a joint military exercise involving @ ch:m l;zoen] I E ThS e s
the Indian Army, the Indian Navy and E &
the Indian Air Force only. () She became the first female match
- - e ol ) official to conduct a men’s cricket test
(d) It is a joint military exercise involving sikash
the Indian Army, the Indian Navy, the ; . .
Sadioh A Fores anid s the Tadiar (d) She has been conferred with the Gandhi
Coast Chxiird. Peace Prize.
FJY-U-GTA (35-A)
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